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26-Fe—-58

-2.474 To 4.245 7%

(n,n') «a
Cross Section

Min

Ratio

endf Threshold 8.6071 MeV
matxs Threshold 8.6071 MeV

Max

MAT 2637
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26-Fe-58

-4.227 To 6.295 7%

(n,n') p
Cross Section

MAT 2637

Min
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26-Fe-58

-4.846 To 6.214 7%

(n,d)
Cross Section

MAT 2637

endf Threshold 9.5123 MeV
matxs Threshold 10.000 MeV
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26-Fe—-58

-8.666 To 6.295 7%

(n,t)
Cross Section
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endf Threshold 12.214 MeV
matxs Threshold 12.214 MeV
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26-Fe-58

-27.15 To 5.835 7%

1.073 MeV (n,d') Level
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Cross Section
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26-Fe—-58

=7.347 To 6.295 7%
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Cross Section

MAT 2637
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26-Fe-58

26.60 keV (n,t') Level
-7.408 To 6.296 7%

MAT 2637

Cross Section
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26-Fe-58

-80.99 To 6.267 7%

110.5 keV (n,t') Level
Cross Section
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26-Fe-58

Cross Section -8.251 To 7.751 %

212.0 keV (n,t') Level

Min

MAT 2637
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26-Fe-58

-8.630 To 7.869 7%
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Cross Section
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